Friendship Junior High School
Sixth Grade Advanced Math Packet

(TDP Pull-Out Program)

Algebra Units 1-5
Working With Integers
Order of Operations
Evaluating Expressions
Solving Equations
Problem Solving




UNIT 1

Working With Integers

1. UNDERSTANDING INTEGERS

Integers ave all positive
Counting numbecs, negahve
coonting numbers, awvcl Zeyo.

Demonstration

Place each in*hzg}ar on &
number line:

@) (B3 ©)-2
@ © (8
e+
“4 =2 © 3
Demonstration

Which of the &:Howimg
values are ini-eae,rs?

@) -5 E)zd (F)-2.25

) is av integer. E)and (F)
are wot integers,

Demonstration

Place a comparison

s ‘Ig’gn
between cach payw ot Integers.

@-202 @) <
-2 00 ) <
() -4 O-6 ) 7

Problem Set 1.1
Understanding Integers

Place cach valve on & number

®@ @ @ @ ® 06

e ;
=2 8 &5 '—IJ—I
<~ —*?J-—i

&,

—"1_,—5}5)0}~7

Tdentify the integers:

D 2.4 QD 2% (B 2

®'vn @o (@ -lo0
@ 2 @ 235 @ 776
@-4 ®-6 @A



UNIT 1

Working With Integers

FPlace o Comparison Sign
between each paw of integers:

® -2 o-5

@ -30 2
@ 2 O-2 @ -5 Oo-5
@ 407 @ -7 O-+4
@ o O-) & 3 OA19
€ -6 O-H @ -4 O-2
ey -8 0-9 @ o O-|

2, ADDING INTEGERS

Tmagne positive valves to
represent money Cavned
(won) and negakive valves

o represent money spent
Clost),

Demonstration
(A) (+6) + (-8) = -2
win 6, lose B
@) )+ &7) = =1

lose 4, lose 7

Demonstration

when adding several integers,
Combine positives and combine

Negatives. Line ocut +he valwes
as JYou combine thewm.

@ CR)Y+END B+ +G2)

GZY + CHY +03) + () + G2
G+ 2)= 3

@ )+ @)+ E7)+(4) +(4)

(o35 + G5 + 7)) + 06 + ()
(-1o) + ()0) = O

Problem Set 1.2

Adding Integers

CDp-j each problem and

Show) all steps:
O )+ @ (8)+@)
@ )+ ) @ =5)+0)
@G ) +(5) @ (D+(-i09)
@ (4) + () ® E3)+8)
® 7))+ (7) ® 5)+ (@)
@ (6) + CIo) (8)+ n)
@ (-3) +¢a) @ )+ H)
® (G)+ (-4) ® )+
@ )+ ¢3) @ (&) + (%)
CN+EE) @ ED+HE2)

_2_.



UNIT 1

Working With Integers

@ 7))+ (e)+ )+ (6) + (2)

) )+ B> By4(a) +03)
@y B+ (6)+ (2)+ (7)+ @)
@D (~3)+ (7) + (-8) + (4) + (o)
G (-b) + (2) + )+ ) + 1)
G (7) + -2) + 2)+ (3)+C8)
@ 3)+(5)+ B+ +(2)
@) o)+ 1) + () + (8)+ (4)

JUST ReMEMBER,

WITHOUT Me, Youre
NOTHING !

=

3. SUBTRACTING INTEGERS

when soubtracting niegers,
change +he subtraction
sign to “oadihion of +he
opposite.” Then add.

when subtrachng seveval

integers | change Signs, Com-

Pine and Show all E‘ﬁepi.

Demonstration
@ (6) - (8)

(6)+ 8) = -2
® 1) - (-9)

D +Ca) = 2
©) -5)-(6)

-5)+ o) =~

@) 6)+(=5)-(4)—(-3)-(-2)
S + (BY+ N+ (T + ()
15X+ (5) = -0

Problem Set 1.3
Subtracting Integers

Per form +he indicated
operation. Show all steps.

@ ©)--4) @ Go)-(-4)
@ 2)~(7) 7)-(b)

3 )+(-9) M 7)) ++8)
@ C)+E3) @ D -C6)
S E8)+(H) @ (6)+ (-0)
@ D-(3) @ »)~)
Q )+ @ ED-CR)
@)+ ® (&) +(FM)

._5_



UNIT 1

Working With Integers

@ CD-CR) - O Co)+s)
® () +(=9) @ (-10)-(-2)

Challenge Problems
@) (-2) + (6)~(-8)=5) + (W)
@ (5)-(-9) - )+ 6) - (3)
@ £7) -3 +ED (8~ ED)
€ -3) + (2)- 5) =)~
G N () (=) + ()
@ (6) -(6) + (6) ~(-6)
@ (-16) +(-)=(-7)-(2)+£5)
@9 (-6)-(-4) ~(4) +(20)-(12)
@ (-7) +(-2)-9) -(e)+(3)
&) () -(-2)+(-8)-(8)+ (~2)

|4. MULTIPLYING & DIVIDING I

Multiplication and division
of Integers pperate under
the same vules :

® Tre answer is (+) if both
Signs are +he same

® The answer i& (<) f +he
signs ave different

Demonstration

Tognore the signs and
multiely. Then attach a
sign to the product using
the rvles above.

® (Gre) x (+2) = +12
@ (+6) x 2) = -2
&) GBY % 3) = ~ld
® Ge) »x (2) = +12

Divide - using +he same
vules and precedures.,

@© +6) + (+2) = +3
B (H8) + ) = =3
@) F6) *+ (¥2) = =3
Gy (~6) 4 )= %3
...l_}_.



UNIT 1

Working With Integers

Demonstration

when mu '|+1'p'ljt'ng meye than
o integers, use +he yules
indicatred below :

® IF you multiply an odd
number of ) signs, +he
pf‘oducj‘ will be &)

®Tf

You multiply an even

numbey of ) signs, the
product will be &)

@ (3)x()xE)=6

even number af ) signs

@ () x(-2)x3) =-12

o6dd number of &) signs

Problem Set 1.4

Multiplying & Dividing

Perform the indicated opemtion:
@ ¢20) +(3)

@ (8)+ (-8)
@ (3) % (¢7)

M () x 3
@ (-2) x (-8)
® )+
® (4) + (2)
® (2) * (8)
© (-6) * (-=6)

© 1)+ (4)

M 3+ )
@ (2) % ¢8)

@ 7)) x 7
@) (2) + (1)

© 6)+ (-3)
1) * (12)

@ (-10) *(8)
(25) + (-5)
(5)+ (W)
@ (14) % (-3)

Pexrform +he indicatred oper-
ohons. Be careful net to
confuse the rules for odding
and subirachng with he
roles for moltiplying and

dividing:
@) (R)+(-%) @ (-8) +~(2)
@ (8)-(4) @ 2)-C8)
@ C7)x(2) @ (o) x(2)
@ -3)-C4) @ (io)+(13)
@ (2)+(6) @ (8)-(6)
Challenge Problems

@) 2)x (N x(3) = (2)
@ ) = (2) x (1) * (-1)
& 5) x (1D x(3) x(2)
@ 4) = (-3) x(-2) = (1)
@ (&) + 2)-3)+H)-C1)

continved

-5 -



UNIT 1

Working With Integers

@ (10)-C3)-)+ C7)-(2) Tdentify +he integevs

@ (-3) x(=2) x(2) x=2) x (~1) ®-4 O@-1% o

B (O-FhlEmn-ty, BTEORE @-2k
1)+ 8)-GI15) +(6)-Cio) Place o comparison sign bethuicen

h par of in S ¢
@ Gi) % (—I) % (=) x (‘!)K(-I) FREN -po. fegers
® 200 @ -eO-6

@W-H-7 ® -20Q-10
@ 707 ® -2 [1-3

Yyou Rl?ﬁgumnr
PRESCRIPTION RiGHT ?

Perform the indicated
opecotions, Show all Steps
for subtraction problems :

D E3)+7) @) (-2) + 6)
8)x(-4) @ (8)-C4)

B LOHGR) . BB HET
@) Ca)-(b) @ (o)1)

Draw a number hine and
idanHPj cach iﬂ+E3&f‘i @) (8)+ (=) @ (&) ~(-6)
M -4, -3 6, 2 @ (L)-G) & (12) x(3)
SRl il T Al @ )-8 @ 2)-C9)

@ 1) _13 61 ~@
=5 ;5 ;- @ ()x(4) 6 5)+(13)
.—6—



UNIT 1

Working With Integers

@ (%) % (35)
G (6)-GM)

@ 12)+(3)
G 1) x(2)

& (8)-(-10)
® W)= (E2)
@ (-20)+ (4)
@ (13)+ (= 10)
@ (-5)-(-2)
@ o)+ (-8)
@ 3)-(1)

Challenge Problems
@ (-3)+E2)-35)--7) -~ (®)
@ () - (-2) + (o)~ (7) —(-2)
@ (-6) + () + ()~ 2)~(6)
@ (8)-2)+(E3S)-CoYy+EH)
C3) =(2) % 3) 200)
@ (-3) x (D) x ) x (=49) *(2)
® (8) x (=) x(2) x(=1) x (-1)
@ (-3) x (2) x (=1 » (4) x (@)
@) (-2)=-(-5)+E7)- F2)-(6) +(+)
B () -(8)+(E)-(-5)+(-12)

ALPHABET SOUP iISNT
SUPPOSED To MAKE SENSE




UNIT 1

Working With Integers

PRACTICE TEST #1

Place a comparison sign
between the miegers:

®© —-n O -13
Pevform +he mdicated
O?Erﬂ.ﬁiﬂﬂﬂ < Shaw :jﬂu*f"

work on svbirachion
problems :

@ 8)+ +D
@ 3+ 1)
DR = (-2
® (-5) = (-9)

Challenge Problem

Sole . Show Your weovk :

® EB)-(P+E1)-Ge) ~(12)

PRACTICE TEST #2

Place a compavisen sign
between +he mtegers:

® -an-i

Pevform e mdiated

operpfions. Show wur
wovk on subtrachon
Problems :

@ (o) + 4D
@ )+ G¢+7)

@ (-8) - G+
® @4 x (-12)

Challenge Problem

Solve . Sow Yo wovK
@ 8)+ED) -CT)-(8)-(-9)



UNIT 2

Order Of Operations

1. USING EXPONENTS

An ex ponent Shows how
many +imes the base
number is Mmultiplied by
i+se If.

Demonstration

(& 3% =12 x3 x3x3 x| =8|

2%z 3 3 %3 x| =27
32 =23x%x3x1=29
3'=3x1=3

& &4

Note : ﬂﬂﬁi‘hfng vased
Yo +he N0~ power = |

® 27= 2xaxaxa x| =16
22z ax2x2x%l=g

2

s gl wley
2' = Axl=d
2 |
Demonstration

When a base numbey LS

insicle of parenthesis; an

expone nt indicates +he

©) (~2‘JH = () x(2)x@2)x@2)x|=1b

-2)% = @) x(2)x(2) x| = -8
2)" = CDyxE) *x1 =4

-2) T == -2

-2)°= |

Note ¢ T the above examge,
on “even” exponent resuits
in an even amount of )
Signs ond a () result.

W It

Note : Anything to the ©
power = | (even o ne_gaﬁw
base value ).

® (-2)° = -32
G e )
;) ¢35)* = -128
@ N°= |

number of Himes the base

s my Hiplied by itself

Yhure RicHT...
THATS A VERY
FUNMNY Nﬁ5€1 :



Problem Set 2.1

UNIT 2

Order Of Operations

Using Exponents

TIndicate +he valve of each

exponential expression :

() & Oy g* @) y"
@ 4* ® a* @ 6"
@85 " @ s°
@®g° @0 @ 22
® 5> @ 2° @ 23
@ 3% ® o G |3
G By §°
@ |° 2® @ 6*
@71 B @ 1"
EF @ @9
Challenge Problems
O @ 9w
@a)y @GP @
@@ s @Co®

2. LEARNING THE ORDER

Use +he *Fol'bcw'mg ovder
wheyw cakulahons are o be
performed w1 an expression:

Parenthe sis

E xponents
mul¥ply / Divide
Add / Subtmact

Demonstration

< how Wouv work when de-
+e;rm*m'm5 cach value s

@ 6+ 3 x4y

®)

b * 12 =18

7 =~ LR=3yme =3
7- (5)x4 -2
T = o=k

7+(-20)+ 2) = -IS




UNIT 2

Order Of Operations

Note : Theve are Hnree ways
1o show jit

|
mu IHiplication: | Eﬁﬁﬂ
s 5 x4 =20 |
& 5 ¥ IF =0 |
e (5)(H4) = 20 e

=k

Zhtny
Demonstration

© (-3)(2)- 4)C2)
(-6)-(3)
(-6)+(-8) = -4
® 2)°- C3):¢)
g) = 3)- 1
-g8) = (3)
-2) +-3)=-1

Problem Set 2.2
Learning The Order

Derermine each valve , Show

all steps,
D 6-2%5 B p+(H)+2
@ g+2-63 @ -2-(-3E2)

® -2-(7-3) ®) -6+ 3) (5-2)
®© - @-1) @) -8-C5): (3+7)
@ 2-(+85)C) @ (o=3) - (8+5)
@ -4+ EHR)ER) (3-8 )+ (&-10)
@ 4-G)2)-5 @ 2)-3-5)
-or@MH-C) @ )P+ -

@ 10~-5-3-4 @ €4~ 2(5)
® -1+EM)-E) B (DE) )
Challenge Problems

@ @)E2)E) - (2)?
@ (3-5)%+ (3-4)°
@ -7+
@ (2)2) = COEY - )
® )(5-7)- 2"
® C5) - (6)+ ) -(-3)
@ (-2)° - (3-7)C3)
& (~6)) F () - -2)°
@& CNENED) + @Y
® @) -7
~11 -



UNIT 2

Order Of Operations

3. MORE PRACTICE

AS You Continve o work with
Oydeyr D'F D{JEFGIL,'\_P.D%SJ 1T 'rm—
p{)r"‘ﬂn".‘ +hat Yoo entinu€ o
<houy 2ach Step.

Demonstration

D% - C2PE)°
gy ==LH5CT)
3 —CH)

(N + 4) = -3

Note : There 15 a diFfecence
in Calcula‘h‘ﬂg with Exponen <
when uyou do nst have
parenthesis aromd a regahive
base wvalue.

With Pacenthesis  No faventhests

et E B <31 = b
(2)? = ~g 22 = ~g
= -2* = ~y
G }I i AT
(=2) 2 e
L= ] = __'i

=2) = | / —2

Th these Express}ansJ +he

order indicotes Hou should
Gpply the €xpenent befoce
The negathive Sign. That s
ujhﬂ 'Hf‘l.e-j adfe all ﬁE‘EjCL'l"LWE.

&) 2)* w2t

-38) -4 - %

(-8) + (-4) +(-8) = -20
@ =5*=-1 ® e9'=-y
®E2'=9 @) -4° = -

.
ONERTI WIPE I
| PERMITTED ||

= e,

|
—t

Problem Set 2.3
More Practice

Determine cach value. Show
o\ steps,

@ 2)E)E) - (2)*
@ -)*~(s-9) + 2
A N -|*

@ EH)° = (-3)* - 13
B (2)ES) + ) - (-3
©@ -2(5-8) - (3)*

—1z-



UNIT 2

Order Of Operations

@ ) =3+ )
© -3 =g)

@ E3)(5) -2°

® -2'G-7"-&)
® -0t
@ (Y- E)ENE)®

® -4%-4- )
@ (- (5-7)
& ¥ 56

® —-5° (5Y-(5) |

Exponent Review

@ -y* @ @2)°
® )™ &S (-)°
@ -3° -53

@ -3" @ (5)
@ (-3)° )"
@ 3)° @ -s°
@ —2° & -|3

B 22 . B
v el e
@4 ®@-2
@ oy @ -+°

® 2)° ()

(1) (4-a)
@ - D)
) EY-2)
® )~ @1+ 2
@ 2(-2)1)

@ -4- E)C2)
@ (6-4)-(2)
@ )-8+
D EREH-E0E)
(5) g-aCu)-(-6)

@ (6-8)*~(-2)°
@ EN°- @)D
@ (2P -62)
@ Ce)-E2%ED)
@ 3)EH)EE)

Challenge Problems

C2)* = D7)+ (5-1)
(4-6)* - -2)°E5)°
-3) = CAR)E)

ay -2 —-2"

3% — 3)- (3)
(=1 = = |
(@-12)* - (5-8)* (2)°
()0 = @) +(2)
G-+ ()%~ 22

OISEIRCRORORIECGNE)

.-13..



UNIT 2

Order Of Operations

PRACTICE TEST #1

Determine ‘H’)e value of
caoch ex pression

@ 8=

@ 3>

@ -3+ 6): (G2)

@ (8) + (D)= (1)
B 6 +(3)-(=)

Cho.llenge Problem
Solve. Show Youwr wovk :

® C3Y - 47+ @)EY)

PRACTICE TEST #2

lefermme the valve of
Eoach expression :

i -

@ E4)*

®@ -g-(-2)Cy-(5)
@ 2)- (5-9)-2)+(-%)
® HE)-CH)

Challenae Problem

Solve, Show YoWw* wovk

© -3%-(2)+ ) -(-¢)

- 14—



UNIT 3
Evaluating Expressions

Probiem Set 3.1

Substituting Values

Evalvating Ex[P{‘ESSims n- |
volves substitutring valves Evaluate eadh expression:
fov variables and wusing a=3 b C5%
+he ovdev of operations.

atb+C cb+ac
Demonstration

: b= D a=-b-c
Always use parenthesis

@
@
when subsrituting @ b-¢ @ ab-bc
| .
MRS . @ a+hk-cC ® a+b+b+c
Evaluate Tor:
a.= l\J& b=3 ¢=-2 @ c-ab @ abe
® a+b ©® ac+ab (B c- be+ac
()+(3)=5 @ a-c+b ® ab-abec
@) b+ ca @ b+ac+b () b+rbcTb
(2)+ () (2)
() + {—LI) = =) @ ac —ab C,Dn"t"mued
L)y B=é%a=rC
(3)-(D) +(2) * (2) PROCRASTINATION
@) =D+ (=) RESEARCH CEN

@)+ (2)+ 1) ]
(Fo+y® N “ 0|0
® o (b-c)

2) (- (2))
(2) (H+@))
2¥(5) =10




@b—ﬂb+c—bc_
@ ~a-b
@ b-ac+b-ab

a+ b =0

Challenge Problems

b (a-b)

(b-¢c) + Ca-¢)
a(Cb+c) - a
(a+c) - b + (a+c)
ab = (b-a)
(G+b) - (c-b)
alb+c) - b(a-c)
Ca-b) (b+c)

BOERROO®®O® ®

I've oT HigH BLOOD PRESSURe
v NEXT TiMe MAKE |T
UNSALTED POPCORN !

UNIT 3
Fvaluating Expressions

2. COEFFICIENTS

A coefficient is a value
mu l+iplied by a variable,

2An

The variable : 3

Exawmple :

* The coefFicient: 32

®)

(&)

Demonstration

Evaluate each expression:
X==-2 y=-I 7=2

Ax = 34
2(-2)- 3(-1)
(-4) ~C3)
CMyeLE) = =)

353 - X
3(-ix2) - (-2)
-6)-(-2)
e)+(2) = -4

2y — 3 (2x +2)
2-1) =2 (2(—1)*-(1))
2y - 3 Corr)
26~ 3 (-2)

(=2) - (=6)

=)+ (6)=4

_|é,-



® Q@ ©@ e 6 6

UNIT 3

Evaluating EXpressions

Problem Set 3.2

Coefficients

Evaluode eadh expression::

¥, = =] 5=3 2=

Ix+ Y @ “Hxyz +x
K= AR ® 29-32

3 x4 @ Zxy-x+Yy
Hx 2 @ z2-2y:* X

Y + 2X @ 3y - x+2y
Z-5Yy @ x—2y+2=z
Yy~ X+ 22 Z2x=3y-32
x+3z2+Y (@ x-y-H4xy

[LIBRAR i

Challenge Problems

Evaluate cach enpress‘mn:
Be-0 6=l =%

@ 2(-b) @ (a+b)—3ab
® 2(b+c) @ k-bL)+1be
® 20 (@b¢) @ 3ab(2ath)
® 3b(c-20) @ 4b@Ba-2c)

Wwhen evaluating EfoESSiDT‘\S
+hat include exponents, 1T
is very \mportant fO use
parenthesis.

Demonstration

Evaluate cach expression:
s A e | Y= -3 724

Q’-’\) X 5 Fa'-.'l;ng +o EAS.‘E
e parenthesis
(:1;1) e resolts 1
an incorrect
®) 2 ‘ﬁl ANSwWer .
263’ £k
2(9)=13

-7



UNIT 3

Fvaluating Expressions

Demonstration

Evaluate cach expression:

G=-3 b=« C=%&

©) 2ap?
2 (3)(1)”
33O = -9
®) (o+b)>
(&) +(—0)3
(-9)*= -eH4

(E) 2A¢ ~ 3ab®e®
2(2) - 3@))* (=)
2G) = 3E3)ONH)

(H) = (=3b)
() + (36) =40

Remember: Continve o
use parenthesis when

eva)vating expressions.

[ ] -. oA e o L ]
. WHEN 1 SAI i MEDREM .

e cmwmre CHRISTMAS, NG 8
- B DiDHTMEm ALLATONCE ! [

Problem Set 3.3

Exponents

Evalvate eadh expression !

X =~ y=-a =z2=-3
O x4 @ x*y*=2*
@ y* @ 2xy3z
@ g* @ -2y*z
& = © Ix-Yy+r”
® 3xy* ® z2xyz-x<
©@ 4x°z (o x5°+x51
@D 3x*+y®> @ 33=x:F
2xz - X! ltj?'- 2 + 3x
@ 3yz-y* @ (x+y)*
xy+3xy @ (y+z)?

Challenge Problems

Evaluate each expression:
o=~  b3s o=

@) 2@-b)* @3 (a+<¢) = (b-a)*
@ 3¢2(b-0)* @ 2abla<)®

G - -



UNIT 3

Evaluating EXpressions

HOW MANY CATS IT TAKES

¢ TSeRew IN A LGHT BULB!
Evaluate each expression:

a==} b==-3 ¢z

M a-b ® c+ ac

@ b-c @ abe

@ axbc ® ac-ab

® pb-c+a @ be+ a

® b-ab @© bc-abe cvaluate cach expression:

o=2 b=-2 c=-|
'aﬁiﬁﬁﬁﬁ_iél‘,ﬁ% ] @ b* @ a’bc”
- AND HASNTT SADA WORD SINCE ! ® b> D (o-b)™
@ ab’ @ (b+c)”

® b @ 2(b-c)’
@ 2b*-3a @ H(e-0"
@ bc2-ab @G 3ab (a+c)
e @ Rab*e* @ 2be*(a=b)
® 2xy-2 @ Hy-6ztx @ 3a*b° @ (p-<)*- 3
@ 2y-22 ® Sxz-3y
® H4x-2yt3z © 24z +3x




UNIT 3
Evaluating Expressions

PRACTICE TEST #1 PRACTICE TEST #2

Evalvate each exprssion: Evaluate cachh expression:
O=-2 bz2 C=-| A 5:—3 ==
D a+e O =x+y +2
& 20~ 3c @ 4% -5y
® a+b-C A zx+ 2y
@ 4a-2¢> ® 3:-:3‘25
® 2ab*" @ sx*y=z
Challenge Problem Challenge Problem
@ He (a-c)®

AS MUCH AS | RAT GETTING

NSTHING BUT BILLS
.- AT LEAST |TS CONSOLING

o KNow SamMeBobY CAReS J|

—.&D_



UNITS 1-3

Cumulative Review

REVIEW & PRACTICE

Place a comparison Sign

between each pow ot intecers:
(1) =3 ] @ A ~6 [1-2
@ -5 O~ @ -s [1-5

terform the indicated op-
erations, Show all steps:

® H+67) @ (12)+62)
@ () % (5) © (-6) % (#5)
QD 2)- () @ 2)~(3)
® (=6)- C1o) @ (H+69)

@ )+ (-9)-(+2) ~-6)(-2)+(3)
@ EHxEY) *GE) = =1 xE=1)
@ EN-(=12) + (-4) - (~2)+GS)

Exponents and ordey of
r::aperaj'tf::ﬂ.?.!

@2 @F DD
@2t @5 -4
Y @& & -s3
& @2 @

@ () + (3) % (F4) - -5)
(-6)- G8)+(+2):(-2)
@ -8)+ (-2) — (~6) = (6)
GD (-D(2) = G3)(-2)=(H)
& ) - (-2)°+ 3)°

& (4)- ()" -3*

@ G2)(2) - ()’

@ @)+ Y < (D=
-3% < ()N G2)-22
@ C3)= (1) x Cu)- (2)°
@D (1)) - (2) +E-0)- D7
@ -1 -CP- =0 -CNT

9 |



UNITS 1-3

Cumulative Review

Evalvahing expressions: X= =

Yy=-2 z=-3
a=-| b= -2 e W

& x-9+2=
G 3x-y*

® a+b+c @ a*-be
@ 20-3k B a-bc

@ 2(x+y) - y*
B o+2b-c @ a+2be r
& & x>-y
- b+ pr-alet
il o b Hx+2) =2(x+y)d
X=2 y=-3 72=2-2 & x*+ 31+21
® 2 xy & (x+y)® @ 2xy - y2
@ 2x-32 & (y+2)* 1?"‘351 + 3y
& x*- xy ) x (y+x) @ 3xy*+ 22

Eﬂiﬂﬂ"l’i-‘ﬁE%i eEeT so
TED WiTH by
1 FEEL.

=Y PEROEL M )
WITH B Ol et =
("IT-.E FILET LvET WE’\-]T% 1
=1 =




UNITS 1-3

Cumulative Review

PRACTICE TEST

Place & omparison sign:

0 =7 O=9

Solve or simplify:

@ (3) + (3)

@ &2)=1¥7)

@ ) = (+3)

@) 1) ~ -2)

® -2

D =8*

@ (-2) = ) % (-3)
@ -1* + -)*

® (-DC3)-C)
© 2)+ () ~¢3)~(+7)

Evaluating expressions:
g.= -2 B=53 €52

R a+ b-cC

@ 2a +b*

@ 2 Ca+rb)

B a* - 2be
@ abc - zab
@ 320 -2b+c*
A =B =2*

5‘;mp'! n‘ﬁ:\ '
@ N -2 EH)°
& (o) EDTED - P

_25..



UNIT 4

Solving Equations
reach T’ ot Sser o
P You

must mu Hiply both sides

An egquation is a mathemat- b‘_-j - -a=9
ical state ment +hat is in
balancR . To Selve an CHCay =) ()
eguation, 1+ is necessary Q: ==
to isslate +he variable .
 THATS THREE INFA
Keep the balavice by MEAT L9AF. Toiose ofpﬁgn?._

peciorming operations on
both sides of the equathon.
Demonstration

Solve each equation and
show all steps:

@A n+7=1Is

N+ = s
Nn=g Problem Set 4.1
Simple Equations
(&) “"?; X "f‘; Solve each equation and
=0 = X -6 Show all steps:
= Hom AN
X = =4
Q) x+i8=2 & 5=4-15
€ 12~-a =2) @ a+8=-4 @ I4=n+I2
[;fl'-:g_ :;ZFIL @ n=5=-4 @D q=x+7
-a =9
85 ® c-12=8 @ -j0=c-4



UNIT 4

Solving Equations

@ +n=1lb G n+l=1| Bn =3 = I
A
© r+a=-2 @ x+tb=b T constant
voriable
3 =ty B = coefficient

@ g-n=-3 @@ 2-n=-l

"T=5=4. = 8-X .
. e Solve the equahon . Show
W -b= %-n @y -2=5"h all steps.

@ BEn-3 =12

T3 +3
B -3 =1

sEn =19

&) (5n)=()(s)

= 55
=g

Demonstration

i 5

) 3 o s

Stee 2 To iwolate the vaviable,

Seme equations require mu Hiply bath sides by
more Than one operation +he reciprocal of the
1o isolate +e variable. coeFFicient

To solve a “wo -Step

equotion, you wust know Note : Always add or Sub~
some mportant vocab - tract before mulhplying
Llory terms iﬂuolu{n_g by the rrecl'proca,l of tHhe
equations | coet+F icient



UNIT 4

Solving Equations

(B) 8+6x =24

-3 -8
g+6x =24
Always use
Gx = lb PCfleﬂ']"hEE-iS
@)6x)=(&)(6)" in this step
o= :TE? Leave improger
frachons in
8
sl Sl u— e RPN
@ lo=6b-4x
=l -
6= 6 -4x%
o0 = —4X

1)) =) )
== X
x= 2

1o check an equation, plug n
Your avswer i the original

equation,
ARE
| AR
p—
o —

Problem Set 4.2
Two Step Equations

Solve €ach equation and
show all steps.

O 4n+a=26 @ -6=5x-6

@ zn-4=6 @ a4=-4n-3
@ -ax-1=4 @M 6-3x =8
@ -3a+5=20 @ 5n+&=-3
® 2zx+2=) ® 4-ba=-2
® Ha-2=-15 @ 8-2n=8
@ 2=2n+4 @ 4-4x=-lo
®@ -12=34+3 (B 2+8a=20

3. COMBINING TERMS

Betore isolahng +he wvarable,
combine all the hke terms.

Demonstration

(A) Bn-3+4-4n =3




UNIT 4

Solving Equations

(B) 2n-6=6n-2=2an
4\ -un
2n—=6 =Y4n -2

b
~2n-6= -2
-2n = 4

t)Ean)=(2)()

n="2
g

Problem Set 4.3
Combining Terms

Selve each equaton and
show all the steps:

2n-5 = 4n-28-n
Ex+ 6 = 2x +14 + X
ID-3a. = a=Iv+ia
b+Hn = n~l1a+5n
n-5+3n = 6+7Mn -3
20 +5-4a = 3a +4-6ba
Ha-b = R2a -5+ 4a
A% =T T eife e

CRONOEONONCEORONS

BH=3%n “4Hh ¥ 8

Ax=3+7 =X+ 6+ (2)
QDEm—n + 4 = =2 —5n

@ 38-a+4 =3a-2—-a
@) 2x ~5x+ta = x+ 3

@ 8 —an =8 = 3n +7-1N
B a-3n+6=8+rn-|
® x-6 =8x-5-Xx

® 30-5+a=a-7+3
an-6-5n=T-n+3
I2=5%x+3= x-9+ax

@ N-2-5n= 4-2n+2

k.
[PaLm reADER]

LOCK , iIF You'Re
THAT TiICKLISH,
LeT'S UseTea Leaves!




UNIT 4

Solving Equations

4, DISTRIBUTIVE PROPERTY

To understand how +he dis-
tribuhve property works,

Consder this example :
H(R) =32

H(2) can be expressed ag:

+(2+3)
H(3) 465)
2 + 20 =32

Demonstration

® 4n-2)=20
W) (4)E3)

b —13 = 20"

41 = 32
G ) () = (% )(31)
n=32r n=g

@) —2C3n 5)=8-Tn
An s 8-7&"'“

.f'l':

nN+10= 8
= -2

Note : ~2(3n-5) > -2(an) -A(-5)
—fn + |0

Demonstration

In +he following example, be
suve to atrtack +Hhe ﬂ(r?gcq."l"wﬁ

Sign to the four when ASINg
the distribuhive property) -

© 8-4(2n-3)= N +a2a

2=+@n-3) = n+2

B-=-3n+lL = N+
~N =¥

A0 =B =¥ +2

S0 ~0n = 5

= <8
G5 = @)Es)
N = % Nz 2

e o



UNIT 4
Solving Equations

Problem Set 4.4
Distributive Property

3(n+a) = 2 (n-1) -2
@ 4o~ = 3 -2(3-2a)
G)(ﬁ+l‘)—3(3a+[‘)=o

.. MAYBE | SHOULD
TURN Thie WATRR SOFTeNeR
DOWN A TAD |

@ -5(at+7)=10
@ -4 (x-3)=-8
@ 6 (ax-3) =6
® 4+ (2n-2)=1lb
@ 3(2n-=4) =12-4n
@ -2(5x%x-3) = -8-3x

@ Bn-1 = 2(3n-2) REVIEW & PRACTICE
©® 3x+2 = 4(3x+5) Soli B aavanian gl

show all steps :
D n+7=4 @ 23n-5=7
@ x-9=-2 ® 5x+6=-1

@ a-6=-2(a-5)
® 2n+5 = 3(2n+2)

Challenge Problems & z=iten @ <Y s+
@ gx —2(@Fx+2) =0 ® -6=a-7 Q-an =0
@ 3x-3= 5-20x+4) ® y-x =12 @ 1-4x =9
® an=30n-4)-6 ® 9-n=-1 @ 4n-2=7

-



UNIT 4

Solving Equations

@ 2n+H-n = 7n+12 -n

D 12%x-5-3%x =09+ 4x +|
@ Ha+5+a = -8 +34 + |
AIn-6-5n =9 +n -2
@ Ha-l=a+7-3a+H4
2n+5 =6n~5 +2n-8
3(n-5)=9

@ -2(x-4)=10

@ 3n-3=4(2n +3)
@ 2a+6 = -4 (3g +1)
G) Hx+6 = x =3 (2x+1)

@D 2n+5= 3n=-2 (Hn+2)

“*

-We INTERRUPT THIS COMMERCIAL
TO BRING YoU ANOTHER

[ COMMERLIAL BY A MUCH
LARGER COMPANY., .

N e -

Challenge Problems

@ & x+) =3(4-x)

@ 2 (n-N-3(@n+2)=3
@ 4 (2x+3)-2(x-5)=0
@ 20-2(Ha-1-a=3@+)
@) x-2(x-5)+3x = Y(2x-2)
@ 3n=~2ln-1) = n-3 Gn+4)




UNIT 4

Solving Equations

PRACTICE TEST #1 PRACTICE TEST #2

Solve each Gquation and Solve each equation and
Showy &\l Sheps ! show all steps-

(N %-5 =13 D o+ 7=-4

@ 2n-7= -1 @ 3x-4 =-22

3 %a-5-=-17 A 4n—-T7=17

@ Zn-4d4 = 2n=-3+4n - 10 @ 2o-3 = 2a-5-T7a-\0

@ H(a-3)=-20 ® 3(2n-1) =18
Challenge Problem Challenge Prablem

@ 2(4n-N-2(n+5) =-6 @ 2(4x-3) -3(x-5)=7

2

- ON SECOND THOUGHT,
isevieve LRy | | () | C
CLINICONTHE OTHER

SiDE OF TOWN 1

@L DD_




UNIT 5

Problem Solving

1. INTEGER PROBLEMS

malmj wovd problems can
be <olved by SGH-I'mj ve
ovi @quation,

Demonstration

@) A number ncreased by

Sevev s twelve, Find
e numbev

DeFine 4 vaviable :
n= the number

4 o =y

= r
N+ 7 =137
N=5 >

® EIGH\' decreased bg} Q
number 15 fourteen .
Fvd He number

E-n =14

=3 £

T~ =i43
==l

n= -6 =

Note: Tvcereased by +)
Decreased by (=)

€) Nineteen ic elevens more.

than +wice a number. Fhd
the number, '

14 = Qny + 1)
s 2an + 1™

g = an

() (&) = (2)(zn)
2-n ;
n=4

Note: Evewn +‘hou5'ln these
prolems can sometmes be
solved without an equation,
I+ 5 mportant to learn Has
process on smple problems
betove attemphing movre com-
pheated problems in the
nexT lesson.

Always use an equation,




UNIT 5

Problem Solving

Problem Set 5.1
Integer Problems
Write an eq vahon to

help Solve each problem:
Show :jouar wovr % .

(D A number decveased bg

eleven 1s megaﬂqe Fve.
Fnd +he number.

@ A number decreased by
wne is zero. And the

nomber.

3 A number increased by
weven 15 Tour Find Hhe

Ny e

@ A number mevensed by
heaaﬁva fwo is
Fvdd the number

B Twelve is six less than
a number. Pnd The
numner

@ Negaﬁ'{ve +Thyee is nine.
more. Than a number

Fwnd the number:

@ Two is Six less than

'Fbgr Fimes o Nnumber.
'Fmd 'I'h!?. ium ber.

{tourteen,

@ Nega:ﬁve ive 15 fovv more
Hran Fhree Hmes A number
Fnd The numbev.

@ Twice G number decveased
by Seven 1s eleven. Fnd the

num Der.

© Four himes a number increased
by pegatrive ten is eighteen.
Fnd the number,

f‘lmimﬁ (TS HIS eYeSiGHT. .
H JUST GORS SWISH-SWISH-BONK

SWISH-SWISH-BONK ALL DAY LONG 1

7

() Nine deereased b:, +hree
Hmes a number IS
T“Jﬁga'h'fe six. Find the

N be,

@Negaﬁvﬂ four mereased
by fwice a number is
ﬂeg,a.ﬁve sixteen . Find

the number.
@ Fourteen js six less +han

_33_



UNIT 5

‘Problem Solving

+ive +imes a nomber. Frd

+e nuwber

(@) Efgh'l-eela decrensed by
Fo0r Hmes a number 1%
Six . Fnd the numbes

6] Negptive eiﬂh‘l' decreased
by six fimes a number
15 pegahve twenty. Find
The number:

© Negahve +hree increased
by four Himes a number
is neaa,ﬁva cleven. Find
the number.

Challenge Problems

) Three Hmes a number
decreased by four is
equal to one move than
twice the Number Find
The number:

Two less Hhan Hairee
Hmes e number IS
Cqual to Six more
thaw Seven times +he
Number What 3 Hhe
Number <

@ Eight decreased by three
Times a wumber s~ €qual

1o 6ve less than six Himes
the number. Find +Hie
Num bey,

@ Seven more Hhawn a nuwmber
s equal 1o nineteen more
Hawv +hree hmes +he
number. Find +Hhe vumber,

2. USING PARENTHESIS

When uwev have +o subtract a
“Quantity,’ i+ is important 4o ;

* use parenthesis
e |earn to dietvibute +he

svbtraction sign into +he
Quantity

Recognizing a “"quantity” is
o key when writing equathons,



UNIT 5

Problem Solving

Demonstration

@A) Twice a number decrensed

by +hree more Than the
numbey jc five . Find the

Nnum ber.

29 = {H+3) s 5
i S Svifi)

+wice decreacad three is Five

a oy MoV
number than a
Nwmbeyr

You must use partﬂ-i-hea-'-is.

when Jou decrease by a
quantity (N+3).

2n ~-(n+3) =5  Nehee how

2n-n-3 =5 f::m'%ub‘
n-3=g* g
Sign S
N = = 8 dlig"]'rilbkﬁed:
Now: @3)
To check vour ~ —N~3
aniswer, plvg
o +he words !
“+uice a +hree more
Number Hhan a o, 15 Tive
2(8) — (g+3) = ©
o —1) =5
5295

(B) Seveys move Than a number

decreased by five less +han
twice the number s Five.
Find the number.

(n+7) -Can-5)=5
I okt

T T
seven  deqreased Five 15 fve
More by less +han
Han a twice
numbpex- the nvmber

(n+T) @5) =9
N+FT7—-—2n+s =5
—n+1= 577

- ==
Nn=17 _.lr

Now : Use +he words 7o
check +he Solution .

seven more Tive less

Hem num. +an hunce
+HiE Num,

(7+7)-(zN5)=5

(1= (4-5)=5 g :
- Es VH““‘|
s=5v |

]

[DONT WALK
FIDGET | |
IMPATIENTLY

e ——=

o




UNIT 5

Problem Solving

Problem Set 5.2
Using Parenthesis

Set up an equation and
wlve . Ute +he words
+o check Yovur salution.

@ Three +imes a num ber

increased by Tour is
thirty —one. Fnd +he

Number,

G Toitié -4 Powmber “Treresicd
bfj Six 1S negative two.
Find the number

® Twice a number decreased
by two is hegatve ten.
Fird the number

@ A pumber ckcreased by
eleven is negathve fFive .
Fnd +he number

® Five fimes a number de-
crensed bﬂ +hvee less
Than the numbey is
huen'hﬂ-seﬂen Fwnd +he
Numbey,

@ :f:cur' 'HFVIES a Numbey
decreased by three more
than the number is
Cighteen. Find the number,

Q) Three times a number de -
creased by 4o Jess +han
twice Hhe nuwmber is
-Fbur'!'een. FHinel He number

@ fowr Himes a pumber- de -
Creased oy +ve move +han
fwice the number is
negative cleven. Fnd +he
num beer

DT less Fhaw 5 sombes
decreased by +hree move

than twice the number
IS Seven. Find the number

© Four less t+han three hmes
Q wumber decreased by

“‘hree more than +he
number is nNegahve Five
Fined the num ber.

conHnued
-



UNIT 5

Problem Solving

@) Two move Han three
Hmes a humber s
equal to eight more
+hay twice the number
Fnd the number.

@ Six less +han four times
a number (5 equal To
Four move Than twice
+he number. Tind the
Nnum bex,

Challenge Problems

3 Two wove +han three
+Hmes a numbev de -
cyeased by four less
+han Twice the number

s equal Yo Tour hmes
+he number. Fnd the
Num ber

® Two less +han +hree
Hmes o number de-
creased by Six move
+han +he number (s
equal +o four Hmes +he
number Fnd +he number,

(5 Two move than three
Hmes a Numbeyr 15
equal to three more t+han
+he. numbeyr decreased
by seven less +han twice
+he number, Find it

REVIEW & PRACTICE

Set up an equation and
olve . Show all work. Check

Your Solutions.

O A number decreased by
Five is +hree. Find +he
Nnumbey.

@ A nomber Increased by three
is negative Seven. Fnd the
nu m ber,

@ Nine is Seven less than a
number. Find the nuwmber.

@NEgai'fﬁe Six 1S e@hf MOYE
Hian oo number, Find t+he
num ber,

B Four Hmes a pumber in—
creased by seven is Jwenty™
+hree. Find the number

@ Twice a numbev decreased
b"j nine s ﬂega.ﬁve cleven .
Find the pumber

i FeeL LiKe AN
UNLISTED NUMBeR
IN THE GREAT
PHONE BOOKOF /e

.



UNIT 5

Problem Solving

@ Eight decreased by three
+Hmes & humber Is
twenty—three., Fnd the
number.

@ Negative six Ivcreased
by twice a Number is
twelve. Find +he
Nvm bev.,

@ five -Hmes a number de-
Creased bgj four move
than the number Is
Negative eight. Find the
Nnumber,

© Twice a numbeyr de-
Creased by five Jess
Fhon the number 1S negaﬁ've
Fovr Find the number

(D Three more +han a humber
decreased Py +wo fless
+Hhan three +Hmes +he
humbey 15 Seven., Find
the number,

@ five less +Hhan twice a
humber clecreased by fwo
movre Than fow Hmes the
number 11 eleven., Find
+he number;

(3 Three Himes a number
decreased eleven is one
move +han ice +he

number. Find +he numbesr

@ Five move +Hhan four hmes

A number is equad to Three
More +han twice the num-
ber, Find Hhe numbey,

Challenge Problems

B Two more +han twice a
number decreased by fve

less +han +hree hmes the
numbex Is seven less +han +he

number. Fnd the number
TEZH more Hhan

Six Himes a
num ber decreased
by two more

‘f‘han +he number
is four

FOR REALLY |
BUSY PEOPLE

(D Four more than fwice o
number decreased by
Five more than +he
Numbeyr is two less than
Jwice the number. Find
The number



UNIT 5

Problem Solving

PRACTICE TEST #1

Set up an equachon to solve.
Show your wovrk. Check +he
<olu Hon'!

@ A Vium bev decreased by
ewght 15 negatve five .
Fnd the number.

@ Twice a Number increased

by +hree s negahve
elevery. Find the number

@ Twelve decreased by three
+Hwes a number i Nepahve
+hiree, Find the numbev:

@ Foor times a Number in-
Creased by five move
+han twice The number
s +hicty —Pive, Find the
Nnumber,

&) Four more +han a number

decreased by two less
+han +hree t+imes +he number
s twelve. Pivnd +he number

@ Fve +Himes a numbey decrensed

by fowr move than twice +he
numbexr equals twelve less

Than seven hwes the numbern
Hnd +he number:

PRACTICE TEST #2

Set vp an Qquah'on o Solve.,
Show Your wovk. Check +he
solution :

D A number imcreosed oy
six 1s hwo. Find the

nym her,

@ Three Himes a numbeyr de-
cvensed by eght is seven.
Fnd the number:

@ Nepative four incrensed by
+wice o numbev is Ten.
Fnd +he number:

@ Twice a Number decveased
by five less than Three
+ymes the number (s
nine. Find +he numben

®) Two less +han Three himes
a numbey decveased loy
four move than the nuni™
ber s negahve +ten.
Fwnd the humbey

©) Twice a number decreased
by Three |ess than three
+imes +he number equals
icteen move than +he
number. Find it

__Sq.._.



UNITS 1-5

Cumulative Review

REVIEW & PRACTICE Evaluating expressions :

: =<3 ks g5
T n‘l*eaer operations :

D+ B 8)-CA)
@ ED+EY) B H) *(-3)
BEN-(5 @ 1))
@B ED=EY) B ¢8)-EH)

@ a-brc @ 2larb)
€9 2a-2b @9 2ab*-C
@ a2+ab @ cCa+b)
@ 3c-20c @ 3L*-20>

Selve each equation and
@ (-3) + 1) ~(-¢) -(+8) +(-4) Show all steps:
CDED ED) 2) (+3) @ n-3=I15

@ 2x-~3 =13

2= A ==

Exponents and ovder of
Ceerations :

MYy @@ @-5*
@®-F @t 6!
®@-2* ®-s* @-o

N-2n =10
Hx =3 = 2~ 3x + bx
_I_l' .._2“.!.—{:__‘5” —q

203n-1) = 2
@ (D + (-2)(-4) ~(-2) e "

@) (-5) = (-H) + F12) = (+3)
€D (2P ~i)
@ 3)* - 2)-)?

3Ca+4)~3 = 2(3a-23)

2 -2(n-3)= -y,

@03 RO ®

n-2a(5n+a)= -2n —|

_Lf’D"'



UNITS 1-5

Cumulative Review

Set vp an equation and
solve, Show ypur wovK
and check solutions:

) A numbev decreased by
seven ls hegative fwo.

@ Three tHimes a number
Ihereased by Tour s
negahve cleven.,

B9 Six Hrmes o number
decreased by two meove

Hon the number is
Hirteen. Fnc +he number,

@ Four move +han a pnumber
decreased by hue less

than fwice the number
s Ten. Fnd +he numbev.

@9 Three move than a nom-
ber decreased by Tour
move t+han +hree Himes
+he number is Five more
+han +he number Find
The Numbev.

&2 Two more +han Tour
times o numbey decreased
by three less than
+wice +he number is
equal o three tmes
The number, Find the
Number.

«1 THiINK TVE GOT (T FTYED NOW
BEUT BE FUL=TT Can )
( SEMSE FEARL

Inteoer operations:
®© 3) - (-3)
@ (-3) »2)= 1)
@ -9)+CD)-EN-Gw-2)
@ ED-EBD+ER)-G+7) ~4)
Exponents and ovder

of operations:
& 3)*
® -2%
@ 3) ~C-4) = (+3)
)Y )t~ A
@ Cu)(-3) - D +=E)
odifon



UNITS 1-5

Cumulative Review

Evaluating explessions: s one . Find The
A=2 W= -2 2="3 number,
@ 2% —2AWR @'FDW‘ mofre +haw twice a
number decreased by
@ 2:«:-‘.:,1- 3z thyee less +han five
+imes the number is
@ 2(y+7) F2x equal fo eght 1ess than
+wice Hhe number. Find
3 XuZ - 93 the number,
Solve each E‘r::}u.:d'iﬂr‘i and Sy is WoLL &
show all steps: | uﬁ;%%ﬁi(
N

@3-3n=n+2
@ 2 (x-3) = -0
@ o- 3(a-¥)= —5a+3
@ 2(@n-1) - (n+1) = n+l

et up an equation ond
solve. Show dour wov K
and check solutons:

@ Four iess +hoan +wice
a viomber s eght, Fird
e nhumber,

@) Three less than & number
decveased by two more
four Himes The number

—-42=-



ALGEBRA SKILLS

Cumulative Review

REVIEW & PRACTICE

Tnteger operations:
D ) 6 C9-6)
@ @D+ 35) @ ELYXES)
@ 2)-C1z) @ 6&)+G5)
@ ¢Nx(5) G7)-C9)

@ (2)+C5) ) -61)+ (2)
® E)ER)E)EDED

Exponents and crder of
Gp&#‘&+iﬂﬂ5 :

O ®) @7
®-5* G @’
®- @-3* ®-3°

@ )+ C6)(-2)= (1)

@ (-2)- 3)+ Fio)+ (+2)
@ )7~ (-3)°

@ -2~ (92

Evalvating explessions:

wK==| tj-‘-*-‘l 2= -3
@ x-y+z @ 3 (x+y)
@ 2x-3y @ 2x4*-2
xZ+xy @ z(x+y)
@) 3z2-2y2 GD 533-—;2;‘
ARERREEER
“%qﬁgﬂ%:ﬁ ARt

Selve each equa_'ﬁor*i
ond show all steps:

G w5 =<7
@ 2n-4% = I
@ a1-2a =13
€ 6-3x =15

@ 2n-4=3-4n+5

...4-}3_.,,»



ALGEBRA SKILLS
Cumulative Review

G) ~8-23x+9 = -7 -l
3(2n-a) = 20

@ 4(a+N-2 =3 Ha-2)
(o 18+ 3(5x+4)=0

@) Bn —3(2n-4) = ~4n +2|

Set vp an equation
and solve, Show your

work. Check your Solutons:

@) A nomber increased by

twelve is Negative +two,

Find +he numbev:

@) Four times a number
decreased by Six move
Than +he Aumbev (s
Negative Fifteen. Fnd
+he nomber.

BDEight +imes a number
decressed by three less
than +he number is

seven teen. Find +he
Number

@Two movre than +hree
times a numbey decveas
by Five less +haw Five
+times the phumber is
Cleven. Find +he number

@ Two more than a number
decreased Tive more
an fwice +the pumbev Is
V& more Han the nowm-
bev: Find +he pumber

@) Three less +han +wice a
number decreased =
one more than Five
fimes the number g
Twelve move +heuws +he
nomoey: Find +he numpey

ECONOPAIRINNE!

(OO, ammive i LA,
ALTTLE [AT® Bera wme

‘*rt:.m HAVE To DUST
OME CROPS AlIDNG

THE Wiy i1

PRACTICE TEST

Tnteger opevations:
@ ¢5) - 1)
@ 2) x Gy) x(-1)
@ B)H+ES)-C)-G1)~(=9)
@ (o)~ &) +E5)-a) ~(-2)
-



ALGEBRA SKILLS

Cumulative Review

Exponents- and ordev
of operations !

@ °

® -3°

@ 8)-C7) x(-%)

A e K T

@ C)E) - (=b) = 1)
Evalvating expressions:
G==3 =3 g=y

Fa - 2 be

@ 2ab? -3¢

@ 3(b+c) +2a

@ abe +c*
Solve @ach equation and
Show all steps:

DIsE-4d4x = x-S

B 2(n-2) = -2

® 2x-B5(x-2) = Yx+|

@ 2(n+2)-Gn-5)= 1-3n

Set up an equation and
solve, Show uouyr work
ovnd cheeck soluhons:

® Three more than Five
Hmes a numbey |s
thirty —three. Find +he
num bev

@ Two less +han three
Fimes a number decreased
by one meore than fFive
Hmes e number (s
+ive. Find +he number:

€ Fovr l€ss than +hree
hmes o number décveased
by Six more +an twice
the number is four less
+han four Himes +he
Nnumber. Find the riumber

BEGE Ao A ]

~ONHILE T WAS STILLIN T

_,11}5 —



